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MAT 140, Spring 2025 — D. Ivansic Covers: 5.4-5.6 Show all your work!
1. (5pts) If log, 4 = 0.6667 and log, 9 = 1.0566, calculate:
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2. (1lpts) Write as a sum and/or difference of logarithms. Express powers as factors.
Simplify if possible.
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3. (12pts) Write as a single logarithm. Simplify if possible.
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4. (3pts) Simplify. log 1072 = 5} logy VIFIS _
Solve the equations.
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7. (5pts) An investor puts $15,000 into a stock. The stock’s value increases by 7% every
year, so after f years the value of the stock holding is given by the funetion V() = 15-(1.07)
(in thousands). When will the stock lmld'mg be worth $40,0007
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8. (12pts) According to census data, Nashville, TN, had 546,000 inhabitants in 2000 and
639.000 in 2020. Assume the population of Nashville grows exponentially.

a) Write the function deseribing the number P(t) of people in Nashville ¢ vears after 2000.
Then find the exponential growth rate for this population.

b) Graph the function.

¢) According to this model, when will the population reach 800,000? g ol 1
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